Divisibility 10 (HKMO Classified Questions by topics)
1990 HI11

F 21377 enip i dic

Find the units digit of 21377%* .

1991 HG1

F 135770 ip g o

Find the units digit of 13577%°

1994 H17

F 3198 chk igF o

Find the last digit of the number 3! .

1995 HI8

de 199771 AL 10 % pr e i ke o

Find the remainder when 1997°'3 is divided by 10 .
1996 HG10

Radk 12422432 +42+ .- +123456789% i = #kc o
Find the units digit of the sum 1% + 2% + 32 + 4% + ... + 123456789,

1996 FG7.4

F 72 B=E_ d» £ d oiE o Ifthe units digit of 7' is d, find the value of d.
1996 FG9Y.1

Z (1995)*+ (1996)" + (1997)* s 4t 10 )};_“f v Fea chio ) T oA B #E o

If (1995)* + (1996)* + (1997)“ is divisible by 10,

find the least possible integral value of a .

1997 F12.4

F 19977 chip =i 12—d > fod i o

If the units digit of 199717 is 12 — d, find the value of d .

1998HI8

F 620 - 5128 @& 1k = #cF o Find the last digit of the value of 620 — 52— 8.
1999 HGS

& 33335 g = #F o Find the units digit of 3333%° .

2000 HG3

£ 2004%% H21% i+ #c o Find the units digit of 2004206

2000 FI13.1

e ar ] +2434 - 1997 +1998+ 1999+ 1998+ 1997 + --- +3 +2 + 1 el i~
#A P> fPenig o

Given that the units digit of 1+2+3+---+1997+1998+1999+1998+1997+- . -+34+2+1 is
P, find the value of P .
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2001 FG4.2

¢ de P+23+33+ .. 4+2001° hip x5 b0 K b HiE o
Given that the units digit of 13 + 23 + 33 + ... + 20017 is b, find the value of b .

2003 FI11.1

s P g 32003 52002, P20 it i o K P chafE o

Let P be the units digit of 32903 x 52002 x 72001 Find the value of P .
2004 HI2

% 200p=2003 > C ¥_B ehipi=#k > £ C ehig o

If 2%/B =2003, C is the units digit of B, find the value of C .

2006 HI9

¢ g 7Y% i -#ECo R C g o

Given that the units digit of 72°°¢ is C, find the value of C .

2009 HI8

£ 7?99 i = & o Find the unit digit of 72°% .

2011 FI1.3

%’R :'; 836+ 7360+ 63600+ 536000 1B ff_& R -j\R HIfE o

If R is the units digit of the value of 8¢ + 7360 + 63600 + 536000 find the value of R .
2012 HI1

F 22432 +4%+ ... +20122012% iR i dkhE o

Find the value of the units digit of 2% + 32 + 4% + ... + 201220122 .
2013 FG1.1

£ @B+ DEM+DERP+ DRI+ g kT

Find the units digit of 2> + D" + NP+ DHQ2* +1).

2014 F12.4

+ ((33)3)3 Rl S o

Determine the units digit, 5, of ((33 )3)3 .

2019 FG3.4

F =200 4300 2 g PR o kod SiE

If X=2%018432018 and d is the units digit, determine the value of d .

2021 P2Q2

X §5=2011"+2012" +2013" + 2014" + 2015" + 2016" + 2017" + 2018" + 2019" »
Bl oni- s F S AR S g RS D

Let S=2011"+2012"+2013"+2014" +2015" +2016" +2017" + 2018" + 2019",
where 7 is an integer. If S is not divisible by 5, find the unit digit of §.
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2023 FI1.1

F A 82023 g e K A4 E o

If 4 is the units digit of 20232%* | find the value of 4 .

2024 FI12.1

2 A 520222 i e Ao

A is the units digit of 2022%*™" | Find the value of 4 .

2024 FG1.2

£ A F_ 888820242024 i i~ it o R A HiE o

If 4 is the units digit of 888820242924  Find the value of 4 .
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Answers
1990 HI11 1991 HG1 1994 HI7 1995 HIS8 1996 HG10
9 9 3 7 5
1996 FG7.4 1996 FG9.1 1997 FI2.4 1998 HI8 1999 HG8
9 2 5 3 7
2000 HG3 2000 FI3.1 2001 FG4.2 2003 FI1.1 2004 HI2
6 1 1 5 7
2006 HI9 2009 HIS8 2011 FI1.3 2012 HI1 2013 FG1.1
9 7 8 9 5
2014 F12.4 2019 FG3.4 2021 P2Q2 2023 FI1.1 2024 F12.1
7 3 3 1 2
2024 FG1.2
6
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